i an unawthorized program.
which functions from inside what seems
to be an authorized program, thereby
concealing what it is actually doing.

(A) War dialer (B) E-mail

(C) Trojan (D) Spam trap
If in a certain code, ‘ELEMENT _151'
written as ‘ELEMTNE’, then how wil
‘OXIDE’ be written in that code ?

(A) OXDIE (B) XOIED

(C) OXEID (D) XOEID
Consider the following

statements about Secular

State.

I. A secular state is one that does not
establish any one religion as official
religion.

II. Indian secularism practices an

attitude of a principled and equal
distance from all religions.

(A) Only the statement II is correct

(B) Both the statements I and
II are correct

(C) Only the statement I is correct
(D) None of the above

The average salinity of Indian Oce-
(A) 70% (B) 36%
(C) 35% (D) 30%

India ranks in fruits ..d
vegetables production in the world.mz:
[

(4) 1 B) 4 i
© 3 D) 2

Nitin was countin .

: g down from 32, Sumit
;Vtgiﬂgoﬂnng Upwards the nm%llaers
the odd mumbe e Was calling out only
will the mﬁl ers. What common number
were ¢ hflag 0‘:1‘;’3 %‘5 flhe same time, if they
(A) 19 at the same speed ?

(B) They wi
(C) 22 & will not call ou the same number
(D) 21

The nth element of the sequence
__Is ;""4_, ...... iﬂ q

(A) (~1)» 201 (B) 2n+
(C) 2n (D) 2!

. SEOIETENE R S g
1 & S T aﬁmmmm%“w
ﬁw%%%wﬁWWmélsﬁm@

(A) B g
;‘g L] ' ten)
U F ¥ ELEMENT %
feran S R, A 3 g 3 ‘OXI[I@TNEJ
e e ¢ My
©Oown ) i
ﬁ?ﬂ'{aﬁl ﬁ}::{fe—.[ﬁgamm
I. %Hﬁﬁﬁamaﬁsﬁw%%
e T 2 o 35 5 8 e o
T2
L. et et et ot & o deif
S ST Tl 2|
(&) e 11wt e
B) =t e [ St 1 e 2
(D) 57 43 3¢ 7
© 3% (B) 36%
e (D) 30%
g & e offc Tl & e
~ T i
A) 1 o |
o g 1%
ﬁﬁq32ﬁﬁﬁaﬁ{ﬁ?$?ﬁ’§ﬁaﬁm
0 S ht SR T 1 o
. 3 g il TR
MWWWH&' o R
@ﬁ'ﬂmmaﬂmgﬂg@r
(A) 19 _ _
«B) ﬁﬁtﬂmaﬁwﬁ
(C) 22
21 |
%,1,2’_4’3, ...... HﬂnaTa:raﬂa’%
n-1 (B) 2n+l
(A) (1" 2 Ll
(e 2"
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10.

11.

12.

3.

(A) Motion sick
n
(B) Syndrome o
(C) Hydrophobig 2
(D) Altitude sicknegg

first
earthquake waveg

(A) Focus
(C) Hypocentre

A alone can make 100 b

(B) Caldera
Epicentre

askets in 6 days
basketsin 12 days.

1
(A) 3 days (B) 3'2“hours

(C) 2% hours (D) 4 days

_ converts AC power from an
electrical outlet to the DC power needed
by system components.

(A) SMPS (B) Memory
(C) Bus (D) UPS

How many 6’s are there which are
preceded by 3 but not followed by . ?

8436790638479368694136042
A) 2 B) 1
© 3 (D) None of these

button reloads the current
document that the user is viewing.

(A) Back (B) Refresh
(C) Stop (D) Address bar

The first meeting of Constituent
Assembly was held on

(A) 11* November 1946

(B) 9t December 1946

(C) 11*December 1946

(D) 9* November 1946

Which of the following banksis the Central

Bank of Ir}gdiak? ppatll
A) State Bank of In -
EBg Corporation Bank of_Indla
(C) Reserve Bank of India

(D) None of the above

10.

11

14.

15.

-3-
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HATEAT 3t

AHETE S Ty
mmmm@ﬁmiﬁm

(A) Wwiﬁaﬁ'{.w

(B) gereqor

(C) Sro+fiean

(D) Vmﬁﬁﬁﬁﬁmmum

T A T WA g g o o
TN KT AT Tre T 2 =
() %3 (B) wosu g
(C) BrgUIEe D) 3ufy CHE
A 3yt 6 et & 100 Srerfeat s e 2 i
B 3rha 12 et & 100 Safert s e 2

A 3R B fiem fras R 8 100 2w
— -

@A) 3R ®) 3%:»:%

(C) zézié D) 4fH

_ U fegd aseeie § AC wifE =1 ey
Heeh g1 aifed DC wifgd § yiafdd st 2|
(A) SMPS (B) =R

(C) =9 (D) UPS

T o 6 2 o geet 3 2 AR ot ame
TEE 7
8436790638479368694136042
A) 2 B) 1

() 3 (D) 3 @ g Tel
___ w2q 9a9F TEEs F [ A #a 8
ST Y edT 3 @2

(A) ¥ B) fokw

(C) =ia (D) TgH TR

e T i et S 3 SRS T ot 7

(A) 1199 1946

(B) 9 fegsw 1946

(C) 11 feds 1946

(D) 9 7&K 1946
freferfea & & S e S v o FET R E 7
(A) VRAT T2 e

(B) SII1teM s 317w gfean

(C) R e o

(D) 3T # & &g T

X20
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16.

i 2

18.

19.

20.
21.

22,

Fi

X20

Inwhich type of ovule the micropyle, chalaza
and funicle are in one straight line ?

(A) Anatropous (B) Campylotropous
(C) Amphitropous (D) Orthotropous
Which day of the week will 27" February 2016
be, if 2" February 2016 is a Tuesday ?
(A) Monday (B) Saturday

(C) Wednesday (D) Tuesday

1s a situation whereby a court
of competent jurisdiction has declared a
person or other entity insolvent, having
passed appropriate orders to resolve it
and protect the rights of the ereditors.

(A) Bankruptey
(C) Insolvency

(B) Currency crunch
(D) Bad loans

is the most common way for
individuals who used home computers
to connect to the internet.

(A) Leased line (B) Dial-up (35"
(C) Cable Modem (D) ISDN i

The instrument used to mea¢

atmospheric pressure is

(A) Barometer (B) Q Jmeter

(C) Hygrometer (D) Anemometer

4l
. the

In which type the ovary occupies highest
position on the thalamus ?
(A) Mesogyny (B) Perigyny
(C) Hypogyny (D) Epigyny
In this question, two statements are given
followed by two conclusions. Chooge the
conclusion(s) which best fit(s) logically.
Statements :
1. All trees are plant.
2. All fruits are tree.
Conclusions :
I. All plants are tree.
II. Some plants are fruits.
(A) Only conclusion I follows
(B) Both conclusions I and II follows
(©) Neither conclusion I nor II follows
(D) Only conclusion I follows

\

16.

17.

18.

19;

20.

21.

22,

CMMS _ S&

¥ e | AIEHITET,
b Bl
A Q:l'r;;ﬁ{:l (B)
fci (D) 3Meiichg
uﬁzmﬂzolﬁﬁm%,?ﬁmw
92016 1 TG T HI-41 fad g 7
(A) EHaR (B) Trfam %ﬁ
(C) FUA (D) wTeaw L

o ferfd B STl U watm sifmmay,
AT U sAfad AGH1 3 HE1H Rearfy
ST T o BT 3T 39 HIEH UE oy
& sfirapmit o6 & o TG ST TRy i

TH &
(A) fFanferam=

m%

(B) q1 &%

~ (C) W IMe FEwar (D) ST F0
__ oxfaqEr & foro gaittes gy

e & S 3ee @ S & forw B
S I TN FH B

(A) "gFa @ (B) sac-31
(C) #ac #1gH (D) ISDN

SRS T 1 7T & for g
(A) SHIex (B) Htertex

(C) Brgmidtex (D) wHgdiex
e sem & sterr St vy gty wm
@A e ?

(A) mefeh (B) Ufefirf

(C) wrzuifir (D; ufufieh
¥ W |, 2 pyg fred
T3 P g 0 P
Brica 2]

Y

L &t g o 4

2. W1 B g

e

L ol i a9 §

sl

11
v 1313 1T st e
(D) %Wﬁﬁemtlam AT 2
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23.

24.

a3

@5

25.

26.

27.

28.

29,

If the sum of n terms of an AP is 2n%+ 3n,
then its n' terms is

(A) 4n (B) 2n + 4

(C) 4n+ 2 (D) 4n+1

In ancient times the term Usara was used
to indicate

(A) Fertile soil
(C) Waste soil

(B) Sandy soil
(D) Sterile soil

Choose theword outofthe given alternatives,
which cannot be formed from the Jetters
of the word ‘CONSULTATION’.
(A) CONSTANT (B) STATION
(C) SALUTE (D) NATION

Who won a Gold Medal at the 2021

World Cadet Wrestling Championship
in Budapest, Hungary ?

(A) Bhavina Ben Patel
(B) Priya Malik
(C) Kseniya Patapovich
(D) Marykom
RAM stands for
(A) Rapid Access Memory
(B) Register Address Memory
(C) Register Access Memory

(D) Random Access Memory

If ‘A’ denotes —, ‘B’ denotes X, ‘C’
denotes =’ and ‘D’ denotes ‘+, then
343C7D52A3B12=7

(A) 137 (B) 102

(C) 65 (D) 107

World Wildlife Crime Report, 2020 is

published by

(A) Interpol

(B) United Nations Office on Drugs and
Crime (UNODC)

(C) Ministry of Home Affairs,
Government of India

(D) None of the above

23.

24.

25.

26.

,27.

28.

29.

ENE
o
=
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Ife uF AP % n vgl &1 am 2n’+ 3n §, a 36T
naiwa%‘m
(A) 4n (B) 2n+ 4
(C) 4n + 2 D) 4n+1

T el H 37 3e2 =1 S 1 g o
& foru 3 faman st o 7

(A) 3IusiTs fud (B) fie firgh

(C) sgugFa fagt (D) Few figdh

fau o foaeredt # @ wsg 9w it wee
‘CONSULTATION' & 31&mi & & &= =i
HehdT |

(A) CONSTANT  (B) STATION
(C) SALUTE (D) NATION
e g, e | fava &2z vt wieemt
2021 H v ol yae Siar ?

A) Wi A7 w2

By T afes

(C) afar vamife=

(D) Bty

RAM F foe stmar 21

(A) Uz waag 9Hd

(B) tforet uga aum

(C) Tt uamy ugr

(D) Tew uaEy Au

afe ‘A’ %1 Haem ', ‘B’ & Hae™ X, ‘C’
uaeE < qgT ‘D’ Haer ), @
343C7D52A3B12="

(A) 137 (B) 102

(©) 65 (D) 107

acE 5o W% e e, 2020 e g

FRTIRTE Sl STt & 7

(A) T

(B) ¥ US H1eH W §IFd g Haierd
(FTAAEi)

(C) TE HATEH, MRA TR

(D) I # B i et

X20
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30. Which one of the following amendmeflt
is related to Urban Local Government ’
(A) 44w (B) 73+
(C) 24w (D) 74"
31. has various pruvision§
and safeguards in relation to detecting,
preventing and penalising corporate fraud.
(A) Companies Act, 2013
(B) Indian Contract Act, 1872 i
(C) Income Tax Act, 1961 ﬁ%
(D) Indian Penal Code, 1860
32. Cnidoblasts are present in
(A) Porifera (B) Cnidaria
(C) Annelida (D) Ctenophora
33. Find the missing number.
(A) 900 (B) 1099
(C) 999 (D) 949
34. Haryana ranks in vegetal
roduction in the country.
&) 10 (B) 13
(C) 12 (D) 11
35. The case in which the Sup, < Court
gave a decision that thexé is a basic
structure of Constitution and nobody
can violate the basic structure
(A) Unnikrishnan case
(B) Kesavananda Bharati case
(C) Golakanth case
(D) AK. Gopalan case
36. World Health Day is celebrated every
year on
(A) 7" October (B) 7w April
(€) 9" March (1) None of the above
37. )?ut of 100 kids, 50 aye members of Team
e czimd 75 are memberg of Team Y. If 40
hl § are members of hoth teams then
myem o o of these 100 kids belong to
anp Deither of the ty, teams ?
SR ) 18 (B) 40
©) 35 D) 15
X20

30.

31.

32.

33.

34.

35.

36.

317.

Preafefaa # @ ®E-7
TER G e 8 7

(A) 445“: B) 7337
(C) 244t

e (D) 745
—— J :?: .‘i'@_'ﬂg.lmqmm ﬂ?}ﬁ
3T afed T % Hey i fyfiyy ,
U & T 3R g
(&) F wferfam, 9019

(B) SR 3T frfa,

(C) T aferf, 196, o
(D) wTeeir 32w, 1860
ﬁ?ﬁwﬁq\zgﬁmg
@ MEE @) e
(C) wiferer &

. (D) FHrery
@f’\mmﬁl

215 (1330 @-\

(A) 900 (B) 1099
(C) 999 (D) 949

1 & wfosrd o 3eare F whemon i e w7
A) 10 (B) 13

©) 12 D) 11

I8 e, e watE =mawe 3 foky fa
o wfeum 1w gfemd e @ o =
TR g =1 Ieee T8 # gFa

(A) SefieFom Tme

(B) FHATR et W

(C) TeTehid HToe

(D) T. . TYeH THaT

o wer fgw v af @ oww
et 21 e

(A) 7 IR B) 7

(C) 9w (D) I9lia | & g T
100 s=1 § |/, 50 A9 X & Temg 2 3k 750
Y% gea §1 9f 40 5= 21 ¥ e 8, @

éﬁﬁmmﬁ%

T @ free =3 21 A @ el oft i & B
T E 7

(A) 10 (B) 40

(C) 35 @) 15
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38.

39.

40.

41.

42.

43.

E]-E. 3

44,

Standardisin

th : o
organisms jg Eallsdﬂamlng of living
& N.omen(:lature B) s o
(©) DlVersjty tandardisation

(D) I[dentification

Food and Agricy
founded in
(A) October 1944 B) O
t
(C) October 1947 oitﬁﬁii igig

Usually the emai] addregg
(A) Lower case
(C) Proper case
Select the correct m
given figure when

Iture Organisation was

18 in
(B) Upper case
(D) All of thege

irrorl Image of the
the mirror ig placed

at line AB. A
FURNITURE E
B

(A) HUATIVAUA
(B) HAUTINSAUY
(C) HAUTIVIU AT
(D) HAUTIV AU
Bovina spent Rs. 44,668 on her air
tickets, Rs. 56,732 on buying gifts for the
family members and the remaining 22%

of the total amount she had as cash with
her. What was the total amount ?

(A) Rs. 28,600 (B) Rs. 33,800
(€) Rs. 1,01,400 (D) Rs. 1,30,000

Military exercise of AUSINDEX is associated
between India and

(A) US (B) Japan

©) Australia (D) China

CMMS - S3

38. SfEi® WWWWW%

B sE

S

39.

40.

41.

42,

43.

44.

-

(A) Fmugfa

(B) "oy
(C) fafayan

(B) WA 7 w9 v A
(C) vtawor # Ta
(D) 3WiFq &+

(A) ITFE 1944 (B) 37aaT 1950
(C) 3FgE 1947 (D) 3TFgH 1945
WG 38 ar T BT R
(A) BT 318} | (B) =2 37& o
(C) ugeT e o (D) T asft
3 TR FFR 7w ador wffie gfi s gd
&1 3T AB W waT Srar )|

A
FURNITUREE

B

(A) HUATILAUT
(B) HAUTINAUN
(C) AAUTIVU ST
D) AAUTIVIAUY

ST 3 319 wad et w . 44,668, whEw
& wewl % forw swem whed w . 56,732 @
FAl & 3R ITh T e Tt Sy 22% TR
T 7 s ST 2| et w0y v oft 7

(A) ®. 28,600 (B) %. 33,800
(C) ¥ 1,01,400 (D) %. 1,30,000
AUSINDEX &1 821 37%379 Wid 311
| gatera 2l
(A) T (B) sma™
(C) FFferan (D) ==
X20
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45.

46.

47,

48.

49.

50.

51.

52.

X20

If we divide the National Income of
country by total population then we get
(A) Personal disposable income
(B) Per capita income

(C) Personal income

(D) Private income

Complaints to Magistrates contained in
(A) Chapter XIII of Criminal Procedure Code
(B) Chapter XVI of Criminal Procedure Code
(C) Chapter XV of Criminal Procedure Code
(D) Chapter XIV of Criminal Procedure Code

National Animal Disease Control
Programme for Foot and Mouth
Diseases (FMD) and Brucellosis
(NADCP) Scheme envisages
to eradicate them through
vaccination by the year

(A) 2030 (B) 2035
(C) 2050 (D) 2040

The sum of series, (-=1000) + (=900) -

(=800) + .....+ 1100 + 1200 is

(A) O (B) 1200

(C) 2200 (D) 2300

Under unfavourable condit’ . many
zooplankton species in la'  and ponds
are known to enter __ ., a stage of

suspended development.

(A) Conform (B) Diapause

(C) Migrate (D) Dormant
Material culture consists of man-made
objects which are In nature.
(A) Tangible (B) Concrete

(C) Abstract (D) Both (A) and (B)

5 of a number exceeds its C. by 8. The
number is ¢
(A) 30 (B) 90
() 75 (D) 60

The largest gas by volume in Bio-gas is
(A) Methane

(B) Hydrogen
(C) Nitrogen
(D) Carbon dioxide

45.

46.

47.

48.

49.

-8-

(C) 2050

50.

51.

52.

O SR @ T (FMD) e et g i
R AT R FTER (NADCP) v 3 s
aﬁ___aaaﬁaaﬁm:mmm%u

(A) 2030 (B) 2035

(D) 2040
& T F@ET (-1000) + (—900) + (~800) +
...... + 1100 + 1200 %71 I 47 81y ?

(A) 0 (B) 1200
(C) 2200 (D) 2300
wfiger wRfefet § el ain e # 5
AT TSIt ,Fefia em s
IO T WA AT 2
(A) FTES (B) Il
(C) a&= (D) W&
fer st & mrrm Fififa gy e 2,
El epfer 1 B B
(A) ar=afg® (B) 3™ B
(C) ¥R (D) (A) 3 (B) Fr i
frel i 1 - 3% = @ 8 S
2, e e ? "
(A) 30 (B) 23

5 (D)
;?;‘t;mﬁuaﬁaﬁm__ﬁaaﬁﬂ?ﬁ%*
(A) e
(B) TTEEISH
(C) TrEgIeH
(D) FTE SEATFAES
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53. Two towns A and B are 60 km apart A

54.

55.

56.

57.

58.

59.

60,

61,

g?‘ht?)oxir]:aﬁ, t05 be built to serve 150 students
O 0 students of town B. If the
ot C ce to be travelled by all the 200
" is to be as small as possible, then
where should the school be built ? ’

(A) In town B
(B) 45 km from town A
(C) In town A
(D) 45 km from town B

18 Non-Aligned Movement (NAM) Summit
was hosted by

(A) Azerbaijan (B) Sri Lanka

(C) Bangladesh (D) Pakistan

Ifthe 25t of Augustin a yearis Thursday,
then number of Mondays in that month is

(A) 3 (B) 6

(C) 5 (D) 4

Thermal decomposition of lime stone

produces

(A) Quick lime

(C) Marble

In open groups mobi
(A) Restricted

(B) Relatively difficult
(C) Possible

(D) Both (A) and (B)

(B) Lime water
(D) Slaked lime
lity of members

The number of permutations of the letters
of ALLAHABAD is o
&) 9! @ 9 e
2(4!)
9!
© % O
3! *
is called the brain of the computer:
(A) CPU (B) Register
(C) Motherboard (D) Memory
9:82:16%7
(A) 14 ®B) 27
©€) 17 (D) 18
The British brought the Police
Commissionerate System first 1n
(A) Delhi (B) Bengalurt
(C) Kolkata (D) Bombay

-9-

53.

54.

55.

56

57.

58.

59.

60.

61.
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aﬁAaﬂIBGO%ﬁH'ﬁlA% 150 farenfefa
71 B 3 50 el 4 e 3 fore o e
S|

AT STal & |l 900 frenfefat g @
aﬁ@wﬁﬁmﬁq,eﬁ%ﬂmaﬁm

(C) T AT
(D) &= B 45 & Hl.

18%33&2:&131@?1?% (T T T ) i A
(A) FEHESTH (B) #icThi
(C) aTEres (D) dIieREdT
aﬁqmaﬁﬁ%mg&n%é‘r,aﬂ:{am@ﬂ
shqaﬁaﬂéwmmé

) 6

A) 3
(©) 5. (D) 4

A e T FHEH T ST Ieurfed
=l el

(A) foramagan = (B) =3 %1 A

(C) FTHT (D) g =

q@la@ﬁaﬁﬁrﬁaﬁwﬂ_ﬁél

(A) sfaafea
(B) aTaaTd Hie

A) 9! ®) 9
2(4")
9!
9! —
(©) N (D) 4!
et &1 HiEsh Fecdl {
(A) @iy (B) It
(C) HetEs (D)
9:8::16:7
(A) 14 ®B) 27
(©) 17 (D) 18
ffer gt SR ST Tl v _——
# @l
@A) feeet (B) TR
(C) Fer (D) 5
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62.

63.

64,

65.

66.

67.

68.

69.

X20

A triply ionized beryllium (Be*) has the
same orbital radius as the ground state
of hydrogen. Then the quantum state n
of Be® ig

A n=1 (B) n=4
C)n=3 (D) n=2

How many delegates participated in the first
session of the Indian National Congress ?
(A) 15 (B) 84
(C) 72 (D) 43
India’s first ‘experimental’ smog tower

has been set up to purify air in a 1 km
radius around the structure at

(A) Varanasi (B) Mysore
(C) New Delhi (D) Chandigarh

In a row of boys, if A who is 10 from the left

and B whois 9%, from the right, inte

their positions, A becomes 15" from left.

How many boys are there in the row ?

(A) 23 (B) 31

(C) 28 D) 27

In a mixture of 60 litres, the

ratio of milk and wateris 2: 1. If

the ratio of the milk and water

is to be 1 : 2, then the amount of

water to be further addedis

(A) 20 litres (B) 60litres

(C) 40 litres (D) 80 litres
rovides the highest qualit

text and irﬂages for personal comput,er:n'?r

(A) Drum printer

(B) Daisy wheel printer

(C) Laser printer

(D) None of the above

It is one of the important outcomes of the

globalization process

A) Outsourcing

B) Industrialization
C) Disinvestment
None of the above

The minimum percentage of deposits that
needs to maintained by commerci
banks in the form of ]iquidy assets, cash,

1d, government securitj o
%g C%ash Reserve ﬁ;{é es, etc. refers
&

Statutory Liquidity Ratio
Reverse Repo Rate
None of the above

-10-

62.

63.

64.

65.

66.

67. ,

68.

69.
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o ofiF T S AR (Beo) oy gy
ﬁw’a’ﬁ@ﬁ?aﬁmf@rﬁﬁw%,eﬁgea+
Fraareq f&fan 2

@A) n=1 B) n=4 Ga3
(€) n=3 D) n=2 e
Wt T FE & e SRRE § Ry
gfafAfert 3 s fem o 7

(A) 15 (B) 84

(C) 72 (D) 43

A &1 BT ‘TR W 2

™Rl -

(A) amrorEt (B) ﬂFL(

(C) 7% fewett (D) ==Erme

AeH! F1 0 UfFa § 9 A A/ 1047 3in

“BEM @ 931 2, 31ye & T weer &, @ Aad

& 153t & san & df o fraa e ¥ 7

(A) 23 B) 31

(C) 28 (D) 27

60 et & fagor & g it ot o1 sigama 2 121

fe g4 3R T T 1 2 B2 A o
o1 w1 &t 3R fohaT seE s ?

(A) 20X (B) 60 &=

(OREICELIET

(D) 3T & & #1E 7
mﬁmm?mﬁﬁ
B ST W@ &1 SEvaehal 2
(A) TFE a0

B) %mﬁamaﬁm
C) fmd =z
(D) 390 | | F1E 78

aife %
%
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70.

71.

73.

74.

75.

76.

In October, 202
_ v <021 world's
&a)tlﬂzl flag was jnaugu"r
(B) Chandigarh
(C) Karnal (D) Jammu

is often used if t} ,
3 . 1€ Ore 18 §
in some suitable solvent e is soluble

(é; gene@cﬁon (B) Froth flotation
( ressing 0} Lseidng

largest Khadi
ated in

Which pattern most
_ st closely r
the following pattern ? d leseml?les

B al b = 2
e
-
(A) c (B) d
(C) b D) a

If on a marked price, the difference on
selling prices with a discount of 30% and
two successive discounts of 20% and 10% is
Rs. 72, then the marked price (in rupees) is

(A) 3,600 (B) 2,400

(C) 2,500 (D) 3,000 %‘”

Cyclical changes during reproducf” n

dogs are called

(A) Asexual cycle

(C) Sexual cycle

When did Mammals e

(A) 400 million years ago

(B) 50 million years ago

(C) 500 million years ago

(D) 200 million years ago

What is Disguised Unemployment refers to?

(A) It is a situation wherein the
number of workers in a job 18 less
than required to do the job

(B) It is a situation wherein the .
number of workers in a job is MOXe
than required to do the job

(C) It is a situation wherein the .
number of skilled workers 1n & Jo
is less than unskilled workers to do

the job
(D) None of the above

(B) Oestrus cycle
(D) Menstrual cycle
volve on earth ?

CMMS - S3
70. arzER 2021 #, 3 % ge@ @2 @l wsdiE
w2l =1 IgATS FEl foha1 74T 7
(A) o' (B) =g
(C) FEATA (D) s=q
71. % wEm g @ afz orew fe
s faermas # faerasfia a2
(A) 3THR (B) = g
(C) Uiy (D) faammem
9. 1 TE I st o @, @€ sEfa gf e
wgA ATEfd gl & /EEiea B
[ a b d

-
(A) <C ®) d
(Cp-b (D) a

73. @ 3ifHa god W 30% Fi g2 3N 20% T 10%

1 31 AT 2 F 1Y T ged 1AM E. 72

2 ), aifda qea (Fwdi H) FTR 7

(A) 8,600 (B) 2,400

(C) 2,500 (D) 3,000

Feil § W & A =fEE e

FEaTd Bl

(A) ST =% (B) 3Hz9 IF

(C) i =i (D) BT T

gedft qt T o foshre e g ?

(A) 400 fiferm ad

B) 50 fafera ad

(C) 500 fafera ad &

(D) 200 firferm ad &

T A0SR &1 9 T2 ¢

(A) T e vl feufa & fored o F F
%Qﬂﬁﬁﬁaﬁﬁaﬁmmaﬂmﬁ
e e for s

B) I8 U% Th i

( )ﬁwﬁﬂmﬁﬁaﬁﬁﬁm

mﬁ&:nﬁ%ﬁr%ﬁaﬁ Ferl |

C) I|TH T

( )aﬁaﬁaﬁﬁ@rm@mqﬁﬁﬂﬂ

(D)wﬁﬂ?rffﬁﬁi#f

( J

74.

75.

76.

X20
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Direction (77-79) : Study the given information
carefully and answer the questions that follow :

L

II.

III.

V.
V.

717.

78.

79.

80.

81.

82.

83.

X20

A,B,C, D, E, F and G are sitting on a wall
and all of them are facing east.

C is on the immediate right of D.

B is at an extreme end and has E as his

neighbour.

G is between E and F.

D is sitting third from the south end.
Immediately between which of the
{Rlilowglg pairs of people is D sitting ?

A (B) CF
©) CE ®) AF 8
Name the person who should %ange
places with C such that he gets the third
place from the north end.
(A) E (B) D
€) G D) F
Which of the following pairs of people
are sitting at the extreme ends ?

(A) FB (B) AB
(C) CB (D) AE
The difference between the value of expor
and value of imports of goods of a cov-
in a given period of time is kn- 48
(A) Balance of trade
(B) Capital account
(C) Current account
(D) Balance of paymer
The number of significant figures in
11.118 x10%is
A) 3
©) 5

(B) 4
(D) 6

The standard protocol used for sending
e-mail is called
(A) http

(C) telnet

(B) SMTP
(D) ftp

When money supply exceeds available

goods and services, it leads to

(A) Inflation (B) Paraflation
(C) Hyper deflation (D) Deflation

- CMMS - g3

frier (77-79) : T2 T WA it v
frerfrfaa WA 1 IW AR

L

I1.
[11.
IV.

V.

74,

78.

79

80.

81.

82.

83.

-12-

ABCDEFGﬁIGwiﬂaﬂq{ £
3T 7@ F o8 §| ¥

C,D & T 3| &)

B T BR W 2 3R E 391 veidt 2|

G, E 3R F & o9 2

D af&oft SR & i 2)

fforiaa 3 & ffm om & &

D3R ? T mga

(A) AC (B) CF

(C) CE (D) AF

38 TR T A9 AR S C & HTY 36 TFT S

F3d1 & T 98 30 S 8 d v W s )

(A) E (B) D

€) G D) F

frefofas & @ oimt &1 FF-w gw fml w

d312 ?

(A) FB (B) AB

(C) CB (D) AE

we fou e v # ua 391 i gt & fata eit

T F e SR FEer R |

(A) SETIR e

(B) dsft @

(C) dTe] @rdt

(D) T HgerH

11.118 x 10-6 § Hgeaqui 3{eh! ol HE&AT 8

(A) 3 (B) 4

© 5 D) 6 [
bt

I-09 WA & T oew W

FEATd 2|

(A) http (B) SMTP

(C) telnet (D) ftp

e gATYfd Iuerey agedt ofR Faredt &

g Bt 2|

(A) gETEhIfa (B) Trrehifa

(C) *fa srwwfifs (D) srawhify
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ad, Who improved the theo
(A) John Kepley
(B) Titian
(C) Michael Angel,
(D) Jackot Nufep

ry of Copernicus ?

5. The HC.F. of (x3+ y2 4 . i
8 ) =1 4 # X+ 1)and (x!— 1) is
B) &+ 1) (x+ 1) (x2 + 1
C) x+1)(x2+1)
D) x+1)(x2-1)

86. — — 18 an electromechanic: '
that allows the user to feeq iﬁ?{)}mﬁiﬁﬁfﬁ

into the computer for analve:

and to give commands to thiség}n?aif p
(A) Memory device .
(B) Output device

(C) Input device

(D) None of the above

87. Select the correct combination of opposite
faces, when the given figure is folded to

form a cube.

6
[1]5

2 |

3[4]
A 1,6 ®B) 5,3
(€) 3,4 D) 5,2

88. Which of the following States has launcned
~ ‘Vatan Prem Yojana’ ?

&2 (A) Haryana (B) Punjab

(C) Gujarat (D) None of the above

8. The primary memory is also called the

(A) Secondary memory

(B) Virtual memory

(C) Main memory

(D) Registers

If the radius of the base of a cone is
halved, keeping the height same, what
18 the ratio of the volume of the reduced
fne to that of the original cone ?

@A) 1:9 B) 2:4

©1:4 D) 1:3

80,

85. (x°+x2+ x + 1) 3 (x* — 1) 1 HEwH
THIEdE 2

A) x2-1) x2+ 1)
B) x2+1)(x+1) E*+1)
C) x+1)(x*+1)
() (x+ 1) &*—1)

qaafégﬂﬂaﬁ‘h gfFa & < st
Foget § guT 1 fageryor, sWEwor % forg sfeee
F It & 3N Fget Y TR (FATS) AR

(A) "9RY gfFa
(B) STas gfad

%@(e) SaF
4B (D) IREEH | ¢ T
87. < dEE A I UF T F w9 A WS AL,

86.

a1 Reia werent =1 wEl @dieH gAY
- [®
PO S
9
3] 4]
(A) 1,6 B) 5,3
©) 3,4 D) 5,2
88. ffeiiad 5 @ g Tsa F ae S e gt ?
(A) =@ (B) =TT
(C) Td (D) 37a 4 & #IE &
89. TUMEIART _ sft meemdt 2
A) fadas o
(B) 3wt B9
(C) g=a aEnd
(D) Thoreed

90. R TH I % STTUR Y firsar w1 s = R
e, A S I FEH W@ g, 9 g F F

T 1 YT VI o ST | AT F1 BN 7
(A) 1:2 B) 2:4
(C) 1:4 ) 1:8

X20
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91.

92.

93.

94.

95.

X20

English Language

In the following question a sentence has

been given in Direct/Indirect speech.

Out of the four given alternatives. Select

the one which best expresses the same

sentence in Indirect/Direct speech.

Aparna said to me, “ have been dancing

for two hours”.

(A) Aparna told me that she has been
dancing for two hours

(B) Aparna told me that she was dancing
for two hours

(C) Aparna told me that she is dancing
for two hours

(D) Aparna told me that she had been
dancing for two hours

In these question, there are four alternatives
following a word or phrase given as the key
term. One of the alternatives best explain
the meaning of that word or phrase, spot
the correct alternative.

FLIMSY
(A) Sturdy (B) Fly
(C) Firm (D) Weak

Fill in the blank with right form of '

the word (given in bracket) from tF
alternatives given below it,

A united effort is a condition for t’
of success (achieve). )

(A) achieve (B) ach* .ple
(C) achievement (D) ar” ving
Fill in the blank with suit concord
from the alternatives given below it.
Not only the principal but also the

students laughing.
(A) am (B) was
(C) were D) is

The following sentence containg
grammatical error or idiomatic
error in it. You have to find oyt

that part of the sentence and
choose the alphabet of that part

as your answer.

He complained about headache after

reading the article,
(A) He complained
(B) the article

(C) after reading
(D) about headache

CMMS - S

&=t 9
96. Tl veq foRd FEd & 7
(A) Jea1 e dHaTet et @i
B) fo 7reai % % | 7firer ared 13 3
(C) THHY TEHAT Tsa] i
(D) 399 ¥ F1 721
_H Tl ) g aed sl 2
(A) HTST THTEHT
(B) g fe=dt =g
(C) Tet aneramy sararor
(D) 574 & #X 7
IR F YR W E a5e I
(A) =5

97.

98.

(B) &1
(C) &
(D) T 4§ F¢ 7

o+ SWT = T wfy 3amr |
(A) o

(B)

(€) gfg

(D) 395 & ¥ 7

TG sy
(A) 91 %W formrs 2y

S ) g v

%

(C) Ty g

(D) ¥ & =¥ 7

99.

100.

———r
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